Max Marks : 150

All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)
Trade Name: Machinist Year 1
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

NS;_ Client %1 estion Question Body and Alternatives Marks N;[ga?ﬁ‘s/e
Trade Theory £\
1 What is the name of the part X? 2.0 0.00
I
HITT X 119 13?2 ‘
fl
J e
A AN T
{\1 Base
SIYR
AZ Column
DI
{\3 Radial arm
Xfeaer o
A4 Spindle head
[EREST
;7 :7: Trade Theory
2 2 What is the purpose of ‘depth stop’ in a drilling machine? 2.0 0.00
i i # Sw i s ST R
Al Ty drill big holes
TS o Fa w1 & faw
_AZ To flush out chips
[ELEICISSHESS EARIY
,A3 To measure hole depth
e P! TGS AR & g
54 To control the down ward movement of drill spindle
oo fRisa & S/ a1 7fa &1 Fifd w3 & fom
Trade Theory
3 3 What is the purpose of counter sinks with pilot? 2.0 0.00

UTIeTe 3 WY BIIex R BT IL2 1 82



_Al For rough works
Hie BT & frg
2 Light duty works

g S B Bl ©

_A3 Medium size holes

Al

AW 3THR S B

A% T4 align with drilled hole

fe fpu T e & A1y W B & Ry

Trade Theory

What is the term in BIS limits fits to mention the size with dimensional durations? 2.0

ersey ferftre & o Weq st 3afy & 1Y 3HR HT Ieord HA & forg fbe Sodr g2

A

! Size
STPR

‘:AZ Basic size

H TPR

53 Actual size

IS MHR

A4 . .
. Maximum size

SfAHAH HHR

Trade Theory

‘What is the formula for finding maximum limit size in BIS system?

Harguy yumeh § sfiedn fifie SHR TioH o g3 w1g?

{\l Maximum limit = Basic size + Upper deviation

SHfYman frfie = 0a SR + S fagem,
:A2 Maximum limit = Basic size + Lower deviation

HferaH e = 4 3R + e fage
{\3 Maximum limit = Upper deviation —Basic size

SfiEHaH fafie = S foge - ga smeR
.A4 Maximum limit = Lower deviation — Basic size

i@y fafie = 1 foge - ga sMeR
Trade Theory
Which type of fitis obtain of the hole is bigger than the shaft?

e by yBR &1 fibe 2 Sl e 78172

AL Tight fit

erge fihe
52 Transition fit
¢ifSi=M fthe

_A3 Clearance fit

54 Interference fit
T fibe

Trade Theory

What is mass production ?

TS I R I R ]2

2.0

2.0

2.0

0.00

0.00

0.00



:Al Producing work in pairs
SIS H B BT

éz Producing a work in single piece
Uhd ¢hS H Usb BIH o T

:A3 Producing an work in large numbers
T3 T= H U BT BT IS
:A4 Producing an work in limited numbers
ifere e & BT BT IedTed BT
Trade Theory

Which system of limits and fits are followed in our country? 2.0

FAR 3 H fAiftrey 3R fheq o {5 vomet 1 urer far s 82

.Al BIS system

BIS JUTeit

‘_AZ DIN system

DIN JurTett

53 BSS system

BSS HUMTel!
54 JIS system

JIS Yot

Trade Theory

Which term used to indicate external dimension of a component in BIS'System of limits & fits? 2.0

?ﬁﬁ%%ﬁ&mmﬁwm%mmﬁﬁamﬁ%mﬁmwwswﬂ%mw

Hole

EX

Shaft

Al

A2
QAU

,A3 Deviation
IEERE

54 Tolerance

HgTRiterdr

Trade Theory

How many fundamental deviation are in BIS system? 2.0

FrafrEuE yomeht # fora Hifere fae g2

20

A4 s
25

Trade Theory

How many grades of tolerances are represented in BIS system? 2.0

0.00

0.00



gy vl H IR & fban ¥s @1 wiafific o S 82

25
Trade Theory

Which fundamental deviation symbol indicate ‘Hole basis’ system?

B 1 Aiferes famrem vl giet aner -vomeh &) g=ifar g2

Alp
h
A2y

H
A3
. P

A4 .
.

Trade Theory

What is an advantage of mass production?

TS UM IR IS $T Ueh BIe] 37 82

?M Production rate is increased
IIEA R G Sl 8

62 Measuring time is increased
IO BT THY ST SITdl §

{\3 Jigs and fixtures are needed

g 3R fohageR &t S

A4 Special purpose machines are needed

fard vrdorT mrefi ot o &
Trade Theory

What is a vernier caliper?

IHIR BRR T R?

.A] Angular measuring instrument
DI A T

A2 . Lo

. Indirect measuring instrument
S{YEl A T

A3 . Lo

. Precision measuring instrument
TRl A9 &7 T

A4 . Lo

. Telescopic measuring instrument

TP AU BT ITHR]

Trade Theory

Which is an integrated part of beam of a vernier caliper?

IR HIR & T &1 U THhipd Rw B a1 e?



_Al Fixed jaw

RR a1

52 Depth bar

TERTS aR

_A3 Thumb lever

YT AR

.A4 Vernier slide

IR wWES

Trade Theory

How much distance is moved by the spindle of micrometer in one rotation?

T exH B AR & o8 gRT fraet g8t o & S e 32
A1 0.50 mm
0.50 T AT,
0.75 mm
0.75 fort
j“ 1.00 mm
1.00 ot

54 1.50 mm

1.50 for.adt.

A2

Trade Theory

Why the extreme care should be taken while handling vernier caliper?.

TR SR S FHTEd T ST @ HTd Tl 1 ST <R

?M Measuring instrument
U T

:A2 Indirect measuring instrument
Vel A T

{\3 Precision instrument
& A

:A4 Semi precision instrument
31ef g IuHY

Trade Theory

What is the function of ratchet stop in a micro meter?

HTZeh! Hiex H Xe WY o7 B 1 82

:Al Increases accuracy
Gl STl &

%2 Strengthen the spindle
I EREIR G

_A3 Ensure uniform pressure

TSI gaTd GAfEd o

54 Keeps high pressure on anvil

TRId R 3 &9 7 @
Trade Theory

What mechanism is used to convert linear motion of plunger to rotary motion of pointer in D.T.I?

D.T.I H UEeR 1 A 71fd ) wioR & Qe i & uikafcd $3a & g {59 o o7 IuanT favar S g2

2.0

2.0

2.0

0.00

0.00

0.00



20

21

20

21

Back gear mechanism

9% R @

Al

52 Rack and pinion mechanism

Y& R U o

53 Can and following mechanism

FH IR Bl 7

4 .
‘Worm and worm wheel mechanism

aH 3R o e

A

Trade Theory
What is 'X' specified in the figure?

ARy x T

Al Lead screw

. Length of bed
SR

:A3 Maximum diameter OJ
SfebeH o «O P

64 Length between centre

&% F @ dars
y & Trade Theory

What is the name of the part )Z”
YT X T 19 32

P\
\
- %
: z}o

MA220415

A

1 Feed shaft

T B s

2.0

2.0

0.00



‘:\2 Lead screw
KISEEd
‘,A3 Feed shaft lever

M TR B Ry

{\4 Lead screw lever

IS ¥ AR

Trade Theory

22

22

How much the end cutting edge angle of lathe tools?

TRIG JUSRU[ P 3id Bl Bl BT a1 2

fM 30°
30°
{\2 40°
40°
A soe
50°
1:\4 60°

60°

2.0

0.00

Trade Theory

23

23

What is the name of the part X?
T X ST AITH T 82

:Al Tool post
JUHR HicH
‘:'*2 Top slide
o g
‘,A3 Cross slide
P WIES

54 Swivel base

REEREILIR

2.0

Trade Theory

24

24

‘What is the part X?

T X T 82

2.0




25

26

25

26

‘_Al Head stock

TS wI®
:A2 Lead screw

ISR
f\S Tail stock

ESESED
?M Cross slide

B TWZS

Trade Theory

Which gear unit in a lathe is also called as reversing gear unit?

T TE B 59 R gfe o RaRfT feR gfie ot e simang?

Al Spindle gear
R freR

{\2 Fixed stud gear

frrs wws iR

{\3 Change gear unit
R gfe 9ad
54 Tumbler gear unit

e R gfe

What is 'X' specified in the ﬁgm‘e’.;

Trade Theory

|Mazz0211

A Afde x @ g
i ]
- frx
|
I S | E
&
o
=
3
,Al Lead screw
We &g
52 Length of bed

SR



53 Length between centres

Sal & 9 BI dars
54 Maximum diameter (Swing) of the work that can be turned

ST BT 3ifwad o (&) o) =1 v o gpar &

Trade Theory

Which type of lathe is more suitable for mass production?

TS I IR I & {8 {59 ToR o1 WR1e 3ifie Iugad 72

Al Bench lathe

EERCNEE
_Az Centre lathe

Cg-ReRt
53 Speed lathe

RlINECRA
A

4 Capstan and turret lathe

P 3R e WIS

Trade Theory
What is the purpose of steady rest in a lathe?

T TRIC H RS R P I8 7182

_Al To support a long job

T BT Pl WERT & & [y
52 To support a shorter job

BIE BT BT TGRT & o ol
A3 . .
.~ To support a large diameter job

S Y & BT I HGRT & b [eg

_A4 To support an irregular shape job

T it SR B BT &) eRIS S forg

Trade Theory
Which tool angle is ground on parting and under cut tools both sides?

59 ¢a TTa & Uifé W SR Sl IRW &e g & ded TS fodl T 82

Al Rake angle

& B0

AZ Clearance angle

FANGY HI0T
:AS Side relief angle
15s el Bl
:A4 Side cutting edge angle

IES FH YR HIT

Trade Theory
What is the accuracy of work that can be trued by 4 - Jaw chuck?

B B Grhdl 1 R B 4 - TS T IR Tobal 82

fM 0.02 mm
0.02 mm
52 0.04 mm

0.04 mm



53 0.05 mm

0.05 mm
54 0.07 mm

0.07 mm

Trade Theory

31

31

‘What is the name of the part marked as X?
X & w0 ¥ fafgd um s I e g

él Keyway
P
{\2 Finger pin

R o=

_A3 Key socket

it e
{\4 Reversible jaw

PISERIRSERS]]

2.0 0.00

32

32

What is the name of the part marked a;

x%wﬁﬁ%aumm:rm? 9

Trade Theory

X

‘_M Work

Eae]

.A2 Drive plate

SEEANH

AS Bent tail carrier

e e B

‘,A4 Square head set screw

2.0 0.00




H WRR 8 Je U

Trade Theory

33 33

What is the name of the part?
T BT T T 32

s

:Al Face plate
BT

2
Catch plate

Fawe

53 Drive plate

Al

gizd we
{\4 Safety driving plate

34 34

fM Face plate

B we

{\2 Work piece

I Es

,A3 Angle plate

BV @I

{\4 Counter weight

BIIR IO

2.0 0.00

2.0 0.00

Trade Theory

35 H35

H What is the accuracy of vernier bevel protractor?

Hz.o Ho.oo



TR Sl diddeR &t aétdar a g?

,Al 0.5 degree

0.5 T&l
62 1 degree

1 f&h

{\3 5 seconds

5Ybhs
{\4 5 minutes

sfre

Trade Theory
Which part of the vernier bevel protractor is attached to disc? 2.0 10.00

IR Saa Midex &1 B 1 4T s A Je1gen e

A

! Dial
S
Blade
=S

Stock

A2

A3

Xlh

54 Vernier scale

iR YT

Tgae Theory
What is the name of the part marked as X? 2.0 0.00
X & U H fafed W &1 718 1 32

53 Vernier scale

R T

A4 ) djustable blade

SRS
Trade Theory
What is the name of the part marked as X? 2.0 0.00
X & w0 ¥ fAfgd Wi &1 TH R e



{\ ! Main scale

T YT
_Az Stock

Xlh

53 Vernier scale

iR Y
A4 ) djustable blade

TSoReTd &S

Workshop Calculation Science

Which metal contains iron as a major content?

=79 Q g u1g & vE 9 & U A digT g g2

:Al Brass metal
et eng

%2 Bronze metal
et g

{\3 Zinc
TS

'A4 Ferrous metal

e urg

Workshop Calculation Science

Which property of metal has its power of returning to its original shape after the applied force is released?

Y1 &1 B T 0 T T IR TSR TU1 9 g TR G109 30+ Gafawi & 31 &1 ST 39l 82

AT Malleability

K| BIREREIRGI]
f\Z Tenacity
Tedl
:AS Elasticity
UIRAYT
:A4 Plasticity
USRI

Workshop Calculation Science

What is termed as the quantity of matter contained in a body?
g # AR uard &t arn &) 51 el o 82
fM Density

Ui

A2 Volume



SIEGET

,A3 Mass

GHHT
64 Specific gravity

fafde @

Workshop Calculation Science

2 £ What is called mass per unit volume of a substances?

et ueref & goqa Ul 3Ts 3maH &) T Fed 82

A ! Mass

GoOHA
:AZ Weight
HR
:A3 Density
Uid

_A4 Volume

SICGE]

‘Workshop Calculation Science

43 43 What is the ratio of power output to power input?

TR $Seye 3R Ak $7Ye BT SFUTd 901 gl 82

{\1 Work

Eac

.Az Energy
Sl

f\3 Efficiency
c&dr

56‘4 Acceleration

SR

‘Workshop Calculation Science

44 44 How many watts for 1 horse power in British system?

fofew Rrem &, 1 519 uieR A fbea arca 81a &2

AT 226 watts
726 watts

A

2 736 watts

736 watts

f% 746 watts

746 watts

?AA 756 watts

756 watts
Engineering Drawing

45 45 Identify the conventional symbol of material?

JAf) & URURS el 1 Ug=?

2.0

2.0

2.0

2.0

0.00



EDNG 1811002

Al Lead

s
{\2 Steel

T

,A3 Glass
E3El

64 Porcelain

52 Wood

I et
Engineering Drawing
46 46 Identify the conventional symbol of material?
A & YRUR Yclleb o1 qge-?
&
gz # # :
:
N Concrete
T wrigH
.AZ Steel
BRG]
,A3 Wood
SEaS)
54 Glass
P
Engineering Drawing
47 47 Identify the conventional symbol of material?
IRl & URURS Udies H Ugar?
vy v,
¥ L d
L 4 »
L g
L g >
S :
> 4 ¥ > T o
2
[}
_Al Steel
BRG]

2.0

2.0

0.00



e
:A3 Glass
EIE)
fM Concrete

3

Engineering Drawing
48 48 What is the trimmed size of A4 sheet?

A4 e &1 fom faman gon SR w1 §2

fM 841 x 1189

841 x 1189
A2 594 x 841
594 x 841
A 2105207
210 x 297
A% 148 x210

148 x 210

Engineering Drawing
49 49 Which drawing dimension is correct as per IS standard?

IS A & TR $I- T LT SHTAH Tt 82

Al

A2

A3

A4

2.0

2.0

0.00



50

51

52

50

51

52

Engineering Drawing
Identify the name of prism? 2.0

o 7 forame U sy 1 A T B2

ECNGH 12008

fM Rectangle prism
37T forsH

A2 .

.~ Square prism
PR oA

_A3 Triangular prism

Bl o

A4 Hexagonal prism

RIS fred
El.npl;ya@y Skills

Fill in the blank with correct future tense of verb. “We to the zoo after Breakfast 2.0

EZIkd e HiasT H1at o A1y e I W | “We to the zoo after Breakfast

Al
. went
went

2 .
are going

are going

A

3 had gone
had gone
14 will go

will go
Employability Skills
Fill in the blank with correct word. “They good friends” 2.0
Ty o Wl wrsg WY “They good friends”

am
am
A3
. are

are

0.00

0.00



53

54

55

56

53

54

55

56

Employability Skills

Fill in the blank with present progressive tense of the verb. “The train

fopa1 & aaam yrfaRiie et o 91y fad RIF WX 1 “The train

1 passed
passed

2. .
is passing
is passing

.A3 had passed

had passed

4 .
was passing

was passing

Employability Skills

through the tunnel”
through the tunnel”

Fill in the blank with proper interrogative adjective. are you going?

Eﬁras‘a?‘lﬁf%a R & 1y e = R are you going?

fM Who
Who

Al

2 Where
Where
A Which
‘Which
{M What
What
Emplayability Skill

»

Fill in the blank with proper pronoun. “I made this cake

o =i 7 I TS & Y W1 <1 made this cake ”

Al myself

myself
2 yourself
yourself
A himself
himself
itself

Ad

itself
Employability Skills

Fill in the blank with proper pronoun. “She made this cake
feara =T & S T & T WX | “She made this cake »

,Al itself

itself
2 myself
myself
?Ad herself
herself

A% fimself

2.0

2.0

2.0

0.00

0.00



himself
Employability Skills
Fill in the blank with proper reflexive pronoun. “She has hurt ” 2.0

Raa = # 3 ufdadt a8 & 91 H31 “She has hurt ”

Al myself
myself
A2 herself

herself
A3 himself
himself
A% iiself
itself
Employability Skills
Fill in the blank with suitable adjective for the given sentence “The little girl’s...... eyes revealed her mischief” 2.0

%Q RINEIER) Ea f%‘l'q SUYd faRiwor 3 1y fRad R WY “The little girl’s...... eyes revealed her mischief”

.Al chubby
chubby
{\2 weak
weak

'A3 short sighted

short sighted
A% {winkling

twinkling
Employabiligf, Skills
Fill in the blank with suitable place preposition. “My houseiis the third floor” 2.0

SUYed R W & T R RIF U1 “My house is the third floor”

Al g
at
in
in
A3
.~ on
on
A4 under
under

Employability Skills
Fill in the correct question word. « is the speaker at the function?” 2.0
e T e 1| = is the speaker at the function?”

A

1 What

What
A

2 When

When
.A3 Why
Why
:A4 Who

Who



61

62

63

64

61

62

63

64

Employability Skills

Low level language is also called

REERAUNMH N

1
source code

I Bl

A2 iddle ware

HIOR]
A3 .
.~ machine language
4
assembly language
Srfereft WSt
Employability Skills

Pronunciation refers to .
FER o Teffd srar g
_Al diphthong
Tgad TR
2
consonant
o
3 punctuation
o forg

4 production of sound

afa P I

Employability Skills
Re-arrange the following set of words into meaningful sentence. ‘teacher / school / worked / she / a / as”

eg) & FEfead I & rfe a1y H R T ogafRyd B “teacher / school / worked / she /a / as™

_Al School worked as a she teacher

School worked as a she teacher
:’\2 She worked as a school teacher

She worked as a school teacher
:A3 She teacher worked as a school

She teacher worked as a school
A4

. Worked she as.a school teacher

Worked she as a school teacher
Employability Skills

Rise and fall of pitch of voice is called

fTaTe B g T I SR AR %Fﬂ?n%

Al
. vowel

TR
2 intonation
STATS T JdR-dgd
3
consonant
e
4 .
pronunciation

2.0

2.0

2.0

2.0

0.00



Employability Skills
The word that expresses a sudden and strong feeling is called

! punctuation
farm forg

2 interjection
[ERZCIEEICES
conjunction
GRIEER S

4 apostrophe

Employability Skills

When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use

BT IYGIT HRAT

T 3Ty e, TiRTerds o1 e S I 3ifAeTRal T SAfiaTe HRd 8, O ! '

ey

A

! Good morning
TS AT
2 Hello

Gl

Al

Employability Skills
Which is a silent letter in the word “ANSWER”?
“ANSWER” ¥ H & 91 b 3&R 82

M

R

A2
E
A
S
Aw

W
Employability Skills



68

69

70

71

68

69

70

71

Which one is a “Do’s” of discussion etiquettes?

T4f % RISEARI § ¥ SH 9 “Do’s” 32

,A] Loose your temper

S{TT 37T /Y

‘_AZ Listen to others

B
,A3 Talk about irrelevant details

ST faaRur & aR # &1
54 Use impolite or rude language

3G TT TP HINT BT SUGIT B

Employability Skills

Which one is a “Don’t” of discussion etiquette?

4 FRIPTER &7 “Don’t” 82

{\l Be open minded

feamT gan w@
,A2 Use moderate tone
T WR BTN P
{\3 Listen to others
ESREIR]
A4
. Argue unnecessary
SFTARD T6H DY
Employability SEill:i

Which one is a brain of computer?

HTCR BT AR B A1 82

_Al Keyboard

EACIS]

CPU

drdi g

A2

_AS Monitor
4 Hard disk

TS S

A

Employability Skills

Which one is a cardinal number?

PHISTA TR B AT 82

:A3 VI
VI
A4y
XI

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00

0.00



72

73

74

75

73

74

75

Which one is a cardinal number?

FIETA TR B 182

One

™
A2 Fifth
i
A3 Eighth

1%

SUGEI

54 Second

N

Which one is an exclamatory sentence?

PIT 91 fawmfesty® arag 82

A

! What a beautiful house it is!
What a beautiful house it is!
.:AZ It is a beautiful house.
It is a beautiful house.
fﬁ Is it a beautiful house?
Is it a beautiful house?

.A4 Your house is beautiful.

Your house is beautiful.

‘Which one is in active voice?

iy 3maTsl § S 1 82

_Al Ram has passed the exam.
Ram has passed the exam.

.AZ The ball was caught by him.
The ball was caught by him.

A3 .

7 The book was being read by her.
The book was being read by her.

A4

. We were driven home by dad.

We were driven home by dad.

‘Which one is in passive voice?

ffepg saw A P A1 g2

Al Mohan is painting a house.
Mohan is painting a house.
_Az She was reading a book.

She was reading a book.

A

3 Her birthday was celebrated by us.
Her birthday was celebrated by us.
54 I have seen that movie.

I have seen that movie.

Employability Skills

Employability Skills |\

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00

0.00




Machinist - 1st year (Eng) SET 2

Question Number

Correct Alternative position

1 A3
2 A4
3 A4
4 A2
5 A1
6 A3
7 A3
8 A1
9 A2
10 A4
11 A3
12 A2
13 A1
14 A3
15 A1
16 A1
17 A3
18 A3
19 A2
20 A4
21 A4
22 A1
23 A2
24 A1
25 A4
26 A4
27 A4
28 A1
29 A3
30 A1
31 A4
32 A3
33 A2
34 A4
35 A4
36 A4
37 A3
38 A2
39 A4
40 A3
41 A3
42 A3
43 A3
44 A3
45 A2




46 A4
47 A4
48 A3
49 A1
50 A2
51 A4
52 A3
53 A2
54 A2
55 A1
56 A3
57 A2
58 A4
59 A3
60 A4
61 A3
62 A4
63 A2
64 A2
65 A2
66 A1
67 A4
68 A2
69 A4
70 A2
71 A1
72 A1
73 A1
74 A1
75 A3
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